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Public Administration
Paper II

TARAITET
gouent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT ¢ A1 TRAUCThd THY TR (100) IgTEEr U foeel ofed. W WA €1 (2)
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[Maximum Marks : 200

U7 STRd. T WYY Wi

1.

Matching Pattern :
List I
(Provisions)
(@) Board of Control
(b) Central Administration
(¢) Governor General
(d) Secretary of State for India
List II
(Acts)
(1) Regulating Act, 1773
(2) Government of India Act, 1858
(3) Pitts India Act, 1784
(4) Charter Act, 1833
Codes :
(@ b)) () (@
A @ 2 B @
B 3 1 @ @
e O 2 & @
D B3 O @ @

1. e S

DI |
(TS

O REREL K ER
(b) HaA TR
(¢) TRR A

(d) 9= 9 gf=g

qrar-11

(FTER)

(1) a9 erfufTzm, 1773
(2) Y9G &R HEgT, 1858
(3) fem sfeam of, 1784
(4) =X HEET, 1833
.

(a)
(A) (4)
B) 3)
)
D) (3)

®)
(2)
(1)
(2)
(1)

0 ()
3 @
4) (@)
3 @
2 @
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The position and role of the Cabinet
Secretary has been influenced by the
emergence of the following powerful

mechanisms :

(A) NITI Aayog

(B) Finance Commission

(C) Inter-State Council

(D) Prime Minister’s Secretariat

The Cabinet Secretariat performs

the following types of functions :

(1) Preparation of agenda for

Cabinet meeting

(2) Keeping minutes of meetings of
the Cabinet

(3) To co-ordinate the work of

various Ministries

(4) Dismissal of members of the
Cabinet

(5) To assist the members of the
Cabinet in discharging their

parliamentary responsibilities
Codes :
(A) (1), (2), (3) and (4)
(B) (2), (3), (4) and (5)
(C) (1), (2), (3) and (5)
D) (1), (3), (4) and (5)
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A )

hfore dfeema a8 enfor fiem @mefia
SIfRIRTIET 0= 3T Henfad gimett
e

(A) T
(B) faw emim
(C) Frawrsa wieg

(D) UTIEHETE Hidemerd

qi5Hees Giuared Eelid U= i

TR 9red

(1) HEHE= dohi=t hEwAYS

TIR L0l

(2) HiTeer=n dosh gud daul

-

(3) fafgy T S 99T 39

(4) TSR USEAl 9Sah ol
(5) HiHS He&Al THEIE Seaer=al
TR IS8l Hed Shivl

A) (1), (2), (3) = (4)

(B) (2), 3), (4) = (5)
(©) (1), (2), 3) = (5)

(D) (1), 3), (4) = (5)




By which Act the Central
Government has established over

Provincial or Presidency

Government ?
(A) 1772 Act
(B) 1773 Act
(C) 1833 Act
(D) 1857 Act

How many proposers and seconders
are essential for Presidential
candidates by ordinance of June
1997 ?

(A) 50 proposers and 50 seconders
(B) 20 proposers and 20 seconders
(C) 10 proposers and 10 seconders
(D) 01 proposer and 01 seconder
Which of the following statements

about the Union Secretariat in India

is incorrect ?

(A) It is a policy making and
executive body

(B) It is a policy consultancy
(C) The Secretariat is headed by the

Cabinet Secretary

(D) It is the collective name of
all the departments in the

Secretariat
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NN

ST TR g feen Sfae—=

TLRTET Sheld TRl T el

et ?

(A) sfafm 1772

(B) srtaf=9 1773

(C) sItaf=H 1833

(D) sAfuf=m 1857

ST 1997 = HATUIHTHTY Tega
T SHGERIHIS! fefell Yoish & STHIG
AERIAH Aed 7

(A) 50 g=e 3T 50 STfAR®

(B) 20 g=ish W01 20 STHICH

(C) 10 H=sk 30T 10 3TIHIEH

(D) 01 Y=k 30T 01 3TIHIEH
WA el Giroeeaees Seielie]

FIo faum gEe o ?

(A) B GRU SAfGUT § HRESRT TR
3R

(B) & T €NV HealMTR GEAT 3R

N

(C) Hiarerard g ehid-e Hiee s

(D) ® HiuaTeEne §d faumme TR
BICHE: I

[P.T.O.



According to recommendation of
Central Pay Commission, 1997,
how many years service is must for
IAS officer become the District
Collector ?

(A) Six year of service
(B) Nine year of service
(C) Twelve year of service
(D) Fifteen year of service

How many grades of ‘Mansab’ were
there in Akbar time ?

(A) Fifteen Grades

(B) Twenty Grades

(C) Thirty-three Grades
(D) Forty Grades

Which of the following are
barriers in Citizen Centric
Administration is identified by
the second Administrative Reform
Commission ?

(1) Onward looking attitude of civil
servants

(2) Red tapism

(3) Difficulties in administrative
infrastructure

Choose the correct option :
(A) (1) only

(B) (1) and (3) only

(C) (1) and (2) only

(D) (1), (2) and (3) only
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HEE T SN 1997 =1 RTRRETER
TRt Bvamg T1AS stfyehr=ar fondr
T Yol MATIE AR ?

(A) &&l o8 Fen
(B) = o H&
(C) a1 =ef el
(D) 9o ad e

THER. Fleold bl TE o HAHEGRH
B ?

(A) 9E 98 o

(B) ¥ Wg =

(C) dediE we o

(D) =Metd U8 &

AT Reh G WA SITeielish! =hioTd
HEYS AR, S T GEAT FMEHA
YU AN @Ee ARd ?

(1) -8 Yk qedl g

(2) ETATHATIIE

(3) WRMEeRIE U faamed sre=oi
RIRECRICIRECE I

(A) ®F (1)

(B) e (1) &for (3)

(C) e (1) o (2)

(D) w= (1), (2) &AM (3)




10.

11.

The Revenue Administration in the

Mughal rule was under :
(A) The Wazir

(B) The Diwan

(C) The Mushriff

(D) The Mustanfi
Which

regarding Municipal Corporations

in Maharashtra ?

statement 1is correct

(A) All Municipal Corporations in
Maharashtra are governed by
the Bombay Municipal Act,
1888

(B) The functioning of all Municipal
Corporations in Maharashtra
is governed by the Nagpur
Municipal Corporation Act,
1948

(C) All Municipal Corporations in
Maharashtra are governed by
the Provincial
Municipal Act, 1949

Bombay

(D) All Municipal Corporations in
Maharashtra are governed by
Municipalities,
Council Act, 1965

Municipal
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10. T TSeRId Hegel TTeH Il SRR

11.

B

(A) =S
(B) fe=mm
(C) H®

(D) H=AHI

RN Her T RUT cTeh =T STeiild hivKd

faam seR e ?

(A) HERTRTEIE 99 WeT T aTiere =
HHHTS Gorg T A, 1888
TER =Terd

(B) HERTSTIA Hd  HeMATUIcIehd

ShTHERTST AT H91 3Tfef=, 1948
TR e

(C) WENITial ¥d HaRuTfelehi

1949 TER =Terd

(D) HERTSETAEl 9d AT RUTeieh

chiHen sl "l‘l(‘-lllr\t'ichl, TRALsg

A=y, 1965 WA =T

[P.T.O.



12.

13.

Which of the following statements

are correct about the Governor of the
state ?

(1) The executive power of the state
is vested in him

(2) He must have attained thirty-
five years of age

(3) He holds office during the
pleasure of the President

(4) The grounds for his removal are
laid down in the Constitution

Codes :

(A) (1), (2) and (4)

(B) (1), (2) and (3)

(C) (1), (3) and (4)

D) (1), (2), (3) and (4)

Who recorded this observation
“Despite the important role of local
self-government bodies in the
democratic process and in meeting
the basic needs of the people, the
financial resources generated by
these bodies are far less than their
needs”.

(A) Balwantrai Mehta Committee

(B) First Administrative Reforms
Commission

(C) Sarkariya Commission

(D) Second Administrative Reforms
Commission

12.

13.
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o B 2 R R G G B G G [ R E AT

faum 9 e ?

(1) Tt SRR I TS

Migd =1
(2) H 99 TG 98 qU el A6

(3) TSIUAE Heli oTHYdd o IS HRU
EXGIK

(4) THTET HTgH RIS HRU HiTEMT
feeit eme

Hehdih :

(A) (D), (2) 27for (4)

(B) (1), (2) &nfo1 (3)

(C) (1), (3) =7for (4)

(D) (1), (2), (3) 0T (4)

GIENI IR Sl G G s ks
TS QUi ShEuaTd T ToRIsd =]
Hevel= | Y[Rl SR, A HEieh g i
RO STIfeen T @ TReTdeT S
FAI oed. © Fe o ARfEe ?

o

(A) FAGE Tegar Fiad

(B) wfgem TRIERE GHRUM SR

(&) TRRRET AR

(D) SHU URIHehid HHROM 3TEM




14.

15.

73rd Constitutional Amendment
Act 1992 relating to Panchayat Raj

Institutions does not apply in :
(1) Mizoram

(2) Meghalaya

(3) Nagaland

(4) Goa

Codes :

(A) (1), (2), (3) and (4)

(B) (1), (2) and (3)

(C) (3) and (4)

(D) (1) and (4)

The provision of Governor of the
State in India is borrowed from the

Constitution of :
(A) US.A.

(B) Canada

(C) England

(D) France

14.

15.
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TS e Hafer 738 HeAgEi!
sifafT=m 1992 v YT AN B
Tl ?

1) foeire

(2) Heer™

(3) el

(4) el

Hehdih :

(A) (1), (2), (3) 20T (4)
(B) (1), (2) i (3)

(C) (3) 3Tfur (4)

(D) (1) =nfor (4)

TRATHES AT T & AR ShIvre

N iorr G Cor B
(A) FTHT.

(B) =1

(C) ¥wie

(D) ®rH

[P.T.O.



16.

17.

18.

When the Cantonment Boards are

established in India ?

(A) 1919

(B) 1935

(C) 1924

(D) 1947

According the Act PESA Gram

Sabha has special powers of :

(1) Administration of canals

(2) Prohibition of liquor

(3) Mimer products in the forest
(4) Manage village markets
Select the correct codes :

A) (D), (2), 3)

(B) (2), (3), (4)

© 3, 4), (1)

D) (D), (2), 4)

In Maharastra how many members

are elected to Nagar Panchayat ?
(A) 10
(B) 12
(C) 17
D) 15

16.

17.

18.

APR - 21224/11—B

TRATHEN Sheh Heos shogl LTI Sl ?
(A) 1919

(B) 1935

(C) 1924

(D) 1947

U’ 1 HERTTER AN g o
arfyer e

(1) oA TRIEA

(2) el

(3) SHTETdIel TR

(4) e SISO S

T Hehaih aer
A) (1), (2), 3)
(B) (2), (3), (4)
(C) (3), (4), (1)
D) (1), (2), (4)

oo 0

TERIEME TR T=Ede! fohdt T
faee SaE 2

(A) 10

(B) 12
(C) 17
D) 15

10



19.

In 1787 the District Collector was
given, which of the following

powers :
(1)
(2)

Civil Justice and Magistracy

Developmental Activities in
District

(3) Administration of Revenue
4)
Select the correct codes :
(A) (D), (2), 3)

(B) (2), (3), (4)

(€ (D), (3), (4)

D) 3), (2), (D)

Law and Order

19.
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T.9. 1787 9 Tocaifesr=are Eeieiieh]

Fog afger foor B9 ?

(1) =& 9 TSMYHR

2) TSegmde fawm wM
(3) WY wRmHA

(4) HHEST F AR
AN Hehdih oSl :

A) (D), (2), 3)

(B) (2), (3), (4)

(C) (D), (3), (4)

D) 3), (2), (D

20. In the era of Ashok dynasty who was | 20. TSeRIfeErl o TSTERE U8 STRIhA
known as present day’s collector ? TSEEMmE] Hd 8 7
(A) Cirkar (A) f=Rr
(B) Rajuka (B) U
(C) Vishayapati (C)  formeet
(D) Uparik (D) ST
21. The most popular form of city 21 WWWWWW
government in USA is : TR ThR BT 3R ¢
(A) Parlimentary Commission (A) FEEE ST
(B) The Mayor—Administrator Plan (B) T AR—sfsfafTeel =M
(C) The Mayor—Council Plan (C) T TR—hHT ©H
(D) The Commission Plan (D) T HHRME =M
11 [P.T.O.



22. Factors contributing to the emphasis

23.

on Comparative Public Administration

in America :

(1) The influence of German

immigration since about 1933

2)

The translation of the writings

of Max Weber

Because Public Administration

3)

emerged in America

(4) Final entrance of the USA into

world politics after 1945

(A) (1), (2) and (3)

(B) (1), (2) and (4)

(C) (3) and (4)

(D) (2), (3) and (4)

Who says “Administration cannot
normally improved very much
in the

without changes

environmental constraints”.
(A) Gunnar Myrdal

(B) Fred Riggs

(C) F. W. Taylor

(D) H. Emerson
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22. 3T qEAHS ARILIEATE S

23.

T hNE HeH § I :

(1) gAR 1933 IR STHATIT Teeliay=

ERIE

(2) ¥ J9= ToEmmE 9

(3) FHRU AGRIYITHAET 3§ FAHRhd
Bl

1945 X STIfas USRI

Afh=n sifaq gaw

(4)

(A) (1), (2) =7for (3)

(B) (1), (2) 37for (4)
(C) (3) =mfr (4)
D) (2), (3) a7 (4)

e AR GAUmed see hedl-
orama geTEA | RRIN R
% TR ARl o™ Th S Aied ?

(A) TR foeE
(B) % T

(C) Th. T&Y. o
(D) TH. T

12



24. Consider the following statements :

(1

(2)

3)

(4)

Behavioral Approach emphasis

on facts.

Systems Approach views an
administrative system as a sub-

system of the society.

Ecological Approach examines
the instructions between an
administrative system and its

external environment.

The Bureaucratic Approach
has been used to study the
of

developmental role

bureaucracies.

Which of the statements given above

are correct ?

(A) (1), (2), (3) and (4)

(B) (2) and (3)

(C) (2), (3) and (4)

(D) (1), (3) and (4)
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24. @A faum fo=ma =

(1)

2)

3)

(4)

(A)

(B)

(®)

(D)

AT giteshA degek R <.

ST Giteehld UIMHhTE HTEI

TS STEw TU[ UTEd

THIGLUCHS GIoeahlT XA

eorop ) ey | o B 1 =3 B | I R

AT HEEd THE0 S

S ERNI I CEAR IR O L C ]

AH FITIHS] ATh TR cHE

gTeehla STIRE Tel 3118

(1), (2), (3) =7 (4)

(2) o (3)

(2), (3) =fur (4)

(1), (3) 3oy (4)

13

[P.T.O.



25.

26.

Which of the following is the
structural feature of administration

in the developed countries ?
(A) Organizational Structure
(B) Rational Bureaucracy
(C) Powerful Bureaucracy

(D) Centralized Administrative

Mechanism

Assertion (A) and Reason (R)

pattern :

Assertion (A) : The Cabinet
operates under the leadership of the

Prime Minister in Japan.

Reason (R) : In Japan the Cabinet
is responsible to the Emperor and
not to the Diet.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) true and (R)

is the correct reason of (A)
(B)
©)

(A) 1s true, but (R) is false
Both (A) and (R) are false

(D) Both (A) and (R) are true and

(R) is not correct reason of (A)

25.

26.
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o o

EEJES|

q SIS WRTEAT WIS
ooy WIefterish! oA 3T ?

(A) HEEATHE TEAT

(B) WhI[G IRLTME!

(C) VIfRTmen AThIel
(D) fsshd USMERIT ZA0T
faem (A) & &R (R) 9 ¢

faems (A) : SUFEER Tdg Il

~ fa e~ ¢ £ ~
Adclelledl HIAHS G <hld <hid.

HAUT (R) : SUFHE hisHeS THEEN

SEEER 3E, SMedl Al

T

(A) (A) a7for (R) <=8t =R 3T (R)
T (A) ¥ 9Fg SR R

(B) (A) =R 3T, WG (R) T =F 3T
(C) (A) &nfir (R) <8I =& Aed

~

D) (A) 277 (R) ST SR 2T 2TT00

(R) ¥ (A) ¥ Irg FRU 8]

14



27.

Assertion (A) and Reason (R)

pattern :

Assertion (A) : The more the
development of technology, the
higher the level of differentiation.

Reason (R) The level of
differentiation in any country
depends on the technological and

non-technological factors.
Codes :

(A) Both (A) and (R) true and (R)

is the correct reason of (A)

(B) (A) is true, but (R) is false

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and

(R) is not correct reason of (A)

27.
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fagm (A) effor sRo (R) 91 :

faam (A) : TR oo e s

fader! YSYETE! Uidel SITE.

THROT (R) : FIVHR SIRel kTl

Uidesl difsteh ST TR—dSIsl Seehia]

A ST

e

(A) (A) 3for (R) St sIf= 31fur (R)
T (A) 9 A7 HEU AR

(B) (A) s 38 T (R) B = 3T

(C) (A) smfor (R) St == oTmed

(D) (A) 2707 (R) Sl SRET 3T 3770

(R) & (A) 9 Irg FRU e

28. Which of the following is not | 28. WIElcidsht HIVI ad HINerATara
included in ethics in research ? Afgeroged I A= ?
(A) Seeking consent of respondent (A) STRETETET Tt Hesferol
(B) Providing incentives (B) iR@ifer: <01
(C) Maintaining confidentiality (C) Twar T
(D) No asking sensitive question (D) Fagsier w3 7 fo=mm
15 [P.T.O.



29.

30.

Identify the incorrect statement :

(A) The comparative administration
group as set up in 1963

(B) Ferrel Heady was the Chairman

of the CAG from its inception to
the end of 1970

(C) The Comparative Administration

Group (CAG) has widened the
horizons of public administration

CAG to focus on the adminis-
trative problems of developing
countries

Assertion (A) and Reason (R)
pattern :

Assertion (A) The Price-
Indeterminacy promotes a bazar like

(D)

atmosphere in a prismatic society.

Reason (R) : In a prismatic economy
‘arena’ as well as ‘market’ factors
coexist simultaneously.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) true and (R)
is the correct reason of (A)

(A) is false, but (R) is true
Both (A) and (R) are false

Both (A) and (R) are true and
(R) is not the correct reason

of (A)

(B)
(&)
(D)

29.

30.

APR - 21224/11—B

Tohid oo™ efesen :
(A) T 1963 e JorcHeh TME T
TATTAT AT

(B) ®ia ®El ¥ 1970 =N T2 wHd
ERIGEIRr e el o

(C) qomTeHeh TR e eleh e
gfast ¥ ol 3R

(D) TorEeie ST TeEeh & T
& T igd HIOAEET JAIHS
URMEA 7L

giqured (A) sfor R (R) TH1 :
yfaures (A) : frma-e1ff=aa fiemfes

FEEIHEE STSRERE] ardaradond
TedET <.
T (R) : Toerdfes arefezasdy ‘ famr’

o ST 52k Rl Sodl Ukl STHAM.

~

n Y Rl O =
W] Iqeie] Hohdlen dlYe HRAld It
ol o

Hahdish

(A) (A) @nfor (R) <=t ssR &Afon (R)
T (A) 9 A7 HEU AR

(B) (A) 9% e, Tq (R) & = 3T”

(C) (A) @1 (R) <6l = 3Ted

(D) (A) 3for (R) Tl @ a7t (R)
T (A) = I HRO AES
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31. Which country practiced limited | 31. =TT I3 SR I0=T TG ShAT
operation of market mechanism with TS el SR TS ShodTETa]
the state playing an active role in ST TR I TR SyfiehT
guiding the economy for the welfare S 9
of the community ?

(A) SUH
(A) Japan

B) wafgmEn
(B) Malaysia (B)
(C) India ) e
(D) China D) =

32. From the following which statement | 32. TR Shivd faem Areed fadas’

is true with regard to ‘Sunset Teyuld =R TR ?
Legislation’ ? )
(1) sTETea, wIcee, SHEygs S
(1) It is a formal process of policy . .
_ o STITETeR ShTET TRUATHIST &I &0
review for eliminating the
undesired, outdated, redundant 3 e
and irrelevant. (2) HH WU HHAwA Ieared fohen
(2) Elimination or minimization of HHT HLOL.
low priority programmes. e
AT Hehdish Tael -
Select correct codes :
(A) (1) ==
(A) (1) is correct
(B) (1) and (2) are correct (B) (1) @)
(C) (1) and (3) are correct (C) (1) 37 (3) ==
(D) (1), (2) are incorrect D) 1), (2) ﬂ‘m’ﬁ% aTTed
17 [P.T.O.



33.

34.

Assertion (A) : The Public Accounts
Committee plays a very important

role as the watch-dog of Parliament.

Reason (R) : The basic material
from which the committee draws its
subjects for examination are the
audit reports of the Comptroller

General of India.

(A) Both (A) and (R) are true and

(R) is the reason of (A)

(B) (A) is false, (R) is true

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and

(R) is not the reason of (A)

Which committee fixes a time for
voting a particular demand and for
all the demands for grants included

in the budget ?

(A) The

Committee

Business Advisory

(B) Department Related Standing

Committee

(&)

Minister of Finance

(D) Rajy Sabha

33.

34.

APR - 21224/11—B

faeam (A) : TrehorEn 9ibdr & ggeem

el WUA Hewaqul iRl s

S®ROT (R) : HiHGT <1 HAYd |
TUIUMEEST AT fao™ shled 9 9Rar

BREEIR:HGIC IR T E I BRGEC ISRl

3TgaTA TR

(A) (A) 3T (R) S8l 9T 3Ted 0T
(R) T (A) = XU TR

(B) (A) @iZ 3§ (R) § B 3%
(C) (A) amfor (R) Tl @i Ted

(D) (A) 3T (R) T8l 9 3Ted 0T
(R) ¥ (A) & HRI e

SRV AT STETh ARG Aae M
FLOAEE! AT AUGHeTd TS
M e S e L 3 e
[RIEECECTC

(A) =9 e |
(B) Taurmsht wefom womdt @fadt
(C) vl

(D) T=IH

18



35.

36.

37.

From the following which provision
deals with the Money Bill as per
Article 110 of Constitution ?

(1) Imposition, abolition, remission,
alteration or regulation of any
tax.

(2) The appropriation of money
out of the consolidated fund of
India.

(3) The imposition of fines or other
pecuniary penalties.

Select correct codes :

(A) (1) and (2) are correct

(B) (1) and (3) are correct

(C) (2) and (3) are correct

(D) (1) (2), (3) are incorrect

Who is the Chief Accounting
Authority for all transactions of the
Ministry ?

(A) Secretary

(B) Joint Secretary

(C) Chief Minister

(D) Finance Officer

Which Article of the Constitution
exempted the property of the union
from all taxes imposed by a state or
by law provided otherwise ?

(A) Article 284
(B) Article 285
(C) Article 270
(D) Article 272

35.

36.

37.

APR - 21224/11—B

qEreTien] hIURI TGS B JeHST=1 et

frfed sme 2

(1) =hITTET T AT, TG8 hT01, HIE,
ECCICEINEREE

(2) Rarear wwfya frefqa e
faf=im

(3) e fwar s s < e

g Hehdieh aSl

(A) (1) =mfor (2) s

(B) (1) =7 (3) seR

(C) (2) 3mfur (3) =TelX

(D) (1) (2) 3701 (3) FehTd 3MRA

ATl ¥ SHERHel & el

ST HI0 STEA ?

(A) wf==

(B) weaf=a

(C) gerHsl

(D) fau sifeprt

TSTEEATAT HIVAT HATH T
HTeTHRIeT TSAeaR el Tt Sfaviq
IS FIHFRTMGIAR eeelel o
FHUHYT e Teedl 318 Soid HEed 31en
TS el RN ?

(A) hetH 284

(B) =heH 285

(C) =hem™ 270

(D) ™ 272

110 TR “HAfagFeRTd

19
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38. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
)
(c)
(d)

(1)

(2)

3)

(4)

List 1

Audit of Accountancy

Audit of Authority

Audit of Appropriation

Audit of Propriety

List II

Ensure that expenditure had

the requisite authority

To detect cases of extravagance

and waste

To see the complete and true

picture of final accounts

Most of

obligatory audit

important part

Codes :

A) )
(B) 4)
©) @
D) )

(@) (®)
(1)
(2)
(4)

(1)

(c)
(4)
(1)
2)
2)

(d)
(2)
3)
3)
4)

APR - 21224/11—B

38. gt I3 gt I & Seoan onfoy wet
faeiean dfgdas arF 3ar e -

(@)
®)
(c)
(d)

(1)

2)

3)

(4)

T 1
TETIT&TT]

IR Lom= ST &7

ST W hell ATHhe Ty
~

YT WY STEear= e
Exul

IYBYE! MM SAAETTH  THT|
TTre

Td @it "yl e 'R s <9
d T

A HAifeean Fald Hgwaran Wi
S

+ *
.
.

A) )
(B) 4)
©) @
D) )

(@) (®)
(1)
(2)
(4)

(1)

(c)
(4)
(1
(2)
(2)

(d)
(2)
3)
3)
(4)
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39.

According to Gladastan which are
the following principles of good

budget ?
(1) The budget should be balanced.

(2) Only one budget for all financial

transactions.
(3) Budget should be on net basis.

(4)

Budget should be on annual

basis.
Select the correct codes :
A (D), (2), 3)
(B) (1), (2), 4)
(C) (@), (3), 4)
D) (3), (4), (1)

APR - 21224/11—B

39. TeERASAl HATTHR ANl HSSTISHehTe]

ETATIdehl IVl dw 3Ted ?

(1) SRSYEF dgfad .

(2) W foxita ATeRES! Thd ATl -
TS ST,

(3) SRENYFHN ez eI fqer

3.
(4) YIS diftie 2.

T Hehdier faer .
A) (D), (2), 3)
B) (D), (2), 4)
(C) (2), (3), (4)

D) 3), (4), (1)

40. Which is the final stage of the | 40. sEEYAFE AfHaN IfqH T FHIoET ?
budgetary process ?
(A) &1 fag=e 99 o
(A) Passing of Money Bill
B) fau fag=s 9@ w0
(B) Passing of Finance Bill
C) faf=m fatmer 9= =
(C) Passing of Appropriation Bill (©)
(D) Planning, Scrutiny, Accounting D) f ™, BIOMH, Tl Tevl F e
and Audit Trer
21 [P.T.O.



41.

42.

From the following which are the

characteristics of social welfare ?

(1) Utilisation of welfare measures
to support or strengthen family

as a basic social institution.

(2) Intent to strengthen the

individual capacity to cope with

the life situation.
Select correct codes :
(A) (1) is correct
(B) (1) and (2) are correct
(C) (1) and (2) are incorrect
(D) None of the above

Which period is declared as
International Women Decade by the

United Nations ?
(A) 1965-1975
(B) 1975-1985
(C) 1985-1995

(D) 1995-2005

41.

42.

APR - 21224/11—B

JEICTich AHTSTeheaTuTEl IO SfeTse

A ?

(1) WY | e R s

FTYR SUATEIS fehall Hsfef LS
FHEAUHN SUEE AT

(2) STEd TR 9ET SR

SfeRTeh &7 TSI LU o

I Hehdleh 9ISl

(A) FF (1) UK 3®
(B) (1) ity (2) & <= /e
(C) (1) 3fty (2) & <A 3T

a) a

(D) =Tyl hIvdal el

S hd Y ¢ n
HIUTAT SR EN Ay Kbl HIAR b H

Afgell ¥R WU[ HIftd hell M8 7

(A) 1965-1975

(B) 1975-1985

(C) 1985-1995

(D) 1995-2005
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43.

44.

45.

From the following which scheme is

not intended for women ?

(A) One Stop Centre Scheme
(B) Swadhar Grih Scheme

(C) Anganwadi Services Scheme
(D) Ujjwala Scheme

Which community is not included in

minority at the national level ?
(A) Christians

(B) Buddhist

(C) Zoroastrians

(D) Gujarati

The objectives of ‘Hamari Dharohar’

programme are :

(1) To curate rich heritage of
minorities under overall concept

of Indian culture
(2)
3)

Curating iconic exhibitions

To benefit minority youths

especially school dropouts
Select the correct codes :
(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (1) and (3) are correct
(D) (1), (2) and (3) are correct

43.

44.

45.

APR - 21224/11—B

TATeToh! ShIvt A1 Afeerme A
TR ?

(A) 99 = &g A

(B) TER T8 I

(C) STTUETS! |a Are

(D) F=Tal Il

T WK IV TR Se9—

TEAGRMAE FHEN @ ?

(A) fge=m

(B) g

(C) Fufegas (qET)

(D) T

B O U F G ke | B B R

(1) 990 RIS FEhaT=aT Heu-

@l fagel aEr=a STeaseAiehl

EE RS e B AR

(2) 1%@'5[ HGQT"IICi AU endl]

(3) THHT M HISUR ATTHEAH
AETAAT R dre=an

are Hehdih fael

(A) (1) =nfur (2) s{= ATed

(B) (2) =fur (3) s 3Ted

(C) (1) 7y (3) si= 3Ted

D) (1), (2) amfu (3) s=R 3T
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46.

47.

48.

Which Act

Government of India to provide a

was passed by

uniform pattern of administration,
care, protection, treatment and
development of neglected or

delinquent juvenile.

(A) Juvenile Justice Act, 1982
(B) dJuvenile Justice Act, 1983
(C) dJuvenile Justice Act, 2000
(D) Juvenile Justice Act, 2001

Who remains the Chairman of
National Disaster Management
Authority ?

(A) President

(B) Prime Minister

(C) Chief Minister

(D) Judge of Supreme Court

In which year National Disaster

Management Authority was

constituted ?
(A) 2001
(B) 2002
(C) 2004
(D) 2005

46.

47.

48.

APR - 21224/T1—B
TRTEH, hlcesil, TLET0, ST=R ST gaif e
foren sTqieht feRvTREE A Hetrn TwaHH

THAT H&T SHLUATEIS! RA TLEhTL ShIvT]

L b
HETT HSRK el ?

(A) &I I h1Ial, 1982

(B) sIte1 =g shrEer, 1983

(C) 9l = =hrFsl, 2000

(D) ¥t =E hiFal, 2001

TS ST AT WIEERI0Te STEe]
IV A ?

(A) TeZudl

(B) dave™

(C) geil

(D) Ta=g EATIT I

FHIVTT O AT AT AT
UIfereRTom=l 9T HIvA Sl 2

(A) 2001
(B) 2002
(C) 2004

(D) 2005
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49.

50.

What 1is Affirmative Action

Reservation ?

(1) Policies that promote the
representation and participation
of groups that have been
historically marginalised or

discriminated against.

(2) It is a action plan for welfare

of the citizen.
Select the correct codes :
(A) (1) is correct
(B) (2) is correct
(C) (1) and (2) are correct
(D) (1) and (2) are incorrect

Through which constitutional
amendment Sarva Shiksha Abhiyan
(SSA) is mandated by Government

of India ?
(A) 85th
(B) 86th
(C) 87th

(D) 88th

49.

50.

APR - 21224/11—B

HHNCHE el ARG HH R ?

(1) Ufqerergsan gaifed fehan Sew@
Sheted e TiariaeE S HEwrTH
TR QUM &R,

(2) B AR HeATIHIS il Al
e,

AN Hehdih el

(A) (1) SR TR

(B) (2) =R a1

(C) (1) &7for (2) § =R &Trea

(D) (1) e7fr (2) & I SR

YA TLRRA R0 HeT SeEigan

wd foran @ (SSA) sifferd &
e ?

(A) 8541
(B) 864t
(C) 87

(D) 88
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51.

52.

Find the incorrect statement from

the following :

(1) Public policy may be either
positive or negative in form.

2)

In positive form it may involve
some government actions to
solve particular problems.

3)

In negative form it may allow
decisions by public servants to
take action on some matter on
which government order is
sought.

Codes :
(A) (1) and (2)
B) @)
C) 3
D) )

Assertion (A) and Reason (R)
pattern :

Assertion (A) : Public policy
focuses on what Dewey once
described as ‘the public and its
problems’.

Reason (R) : Public policy is about
people and their needs, values and
preferences.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct reason of (A)

(A) is true, but (R) is false
Both (A) and (R) are false

Both (A) and (R) are true and
(R) is not correct reason of (A)

(B)
(&)
(D)

51.

52.

APR - 21224/11—B

Gt gehra faum feer
(1) HreSeR SR Tehal FehRcHe Tohan
TRNCH & ST ehd

(2) THRAF W=EUE fafise g9
OO HIOIEES wE TR
S A S IRl

(3) THNICH® TWEUM o Hrasieh
YIohd SITe TLhIl 3TQET |
ST

Hehdieh

(A) (1) smfw (2)

B) 2)

) 3

D) D)

faum (A) sfor & Ro (R) 91 ¢

faam (A) : gESHE =i, €Ed

(Dewey) Tehel ‘ST 2101 = qae’

3TY UM heledT TSerer del higd .

HAUT (R) : FES-eh 0T, &b A0
AT TS, 7ol ST WHeEd 3%,

Hehdlah :

(A) (A) & (R) <=1 s 31101 (R)
g (A) ¥ AT RO R

(B) (A) TR 3T, WG (R) T IF 38

(C) (A) @1 (R) <6l = 3Ted

D) (A) 71 (R) St SeR 3T 170
(R) ¥ (A) 9 IdrY IO TS
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53. Match the List I with List II and

select the correct answer from the

codes given below :

(a)
(b)
(c)
(d)

(1)

(2)

3)
(4)

List I
(Author/Editors)

Pressman and Wildvsky
James Anderson
Barrett and Fudge
Mazmanian and Sabatier

List II

(Books)

Examining the Policy-Action
Relationship

Implementation and Public

Policy
Implementation

Public Policy Making

Codes :

A 3
B) (D
©) 2
D) 4)

(@) (&)
(4)
(2)
(1)

3)

(c)
(1)
(3)
(4)
(1)

(d)
(2)
(4)
3)
(2)

APR - 21224/11—B

53. g1 I o H=it 11 3f Seoa 31107 @ireitel
Hehahmed arg 3a e :

(@)
®)
(c)
d)

(1)

2)
3)
(4)

=l 1
(FTEIh /HUTSH)
UHHA ST Sgeesteht

S afeEd

e T w

HEEEA 3T Harfaa
T 10
(TETeh)

TFRATHIHIT § Oifedi-sfaw fewm-
forg

sfeieyH UE Yfeass uiferdl
AR
e YR qIR ShHul

- .
.
+

A 3
B) (D
C) 2

D) 4)

(@ B © @

4) 1 (@

2 G @

1 @ O

3 @O (@
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54.

55.

‘Incremental approach of public
policy is unjust as it creates a gap
between those who have more power

and those who have little power.

Who said this ?

(A) Amitai Etzioni

(B) Yehezekel Dror

(C) Karl Marx

(D) James M. Buchanan

According to Lasswell, policy

sciences are :
(1) Contextual
(2) Multi-method
(3) Unrelated
(4) Problem oriented
Select the correct codes :
(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1) and (3)

(D) (1), (2) and (4)

54.

55.

APR - 21224/11—B

HSSIeh GV el gleehM ST -

FE 38 FHRU AR S I
SR offo =T=aTehe T TR SR
A SR FA . § ol w2
(A) AR T

(B) FeFhel 3R

(C) I HoH

(D) <= TH. &

(1) THIIEd
(2) wg-wsdl
(3) eTHsifE
(4) FHEIIE

T Fehdies ael
(A) (1), (2) 2wfur (3)
(B) (2), (3) a7fur (4)
(C) (1) =mfur (3)

D) (1), (2) 27for (4)
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56.

57.

According to Lindblom, which of the
following aspects prevent policy
makers from identifying a full range
of policy alternatives and their

consequences ?

(1) Constraint of time
(2) Intelligence

(3) Cost

(4) Environment
Select correct codes :
(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1) and (3)

(D) (1) and (4)

According to Barret and Fudge, on
which of the following aspects does
policy implementation depends

Choose wrong option.

(A) Knowing what you want to do
(B) Availability of resources

(C) Ability to control these resources

(D) Ability to manipulate resources

56.

57.

APR - 21224/11—B

feeaiT=a A, Weladdh! S0 e
oy fafer 9T gatr= gl
gufl emfon = w9
e ?

(1) ee d9

2) dfgHm

(3) @

(4) THERT

ArE Gehdish fEel

(A) (1), (2) sfur (3)
(B) (2), (3) &1 (4)
(C) (1) =nfm (3)
(D) (1) sfon (4)

S 0T ThoT=aT Hal, WTeiieTteh! ahToTe
Uefe IR STHeTesmavt STaeed
A ? gHa wmE e

(A) TreTell hE HAF ST & S B0y

(B) FETYATET SqeTsEl

(C) o1 FHEEAeR a0 Savar=] &

(D) HEEH EBvETE] &Il
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58.

59.

According to Dror, which of the

following is a policy making stage ?

(A) Determining policy making
strategy

(B) Establishing operational goals

with some order of priority

(C) Motivating the execution of

policy

(D) Processing problems

Which of the following pair/s is/are

correctly matched ?

(1) Meta policy making stage —
Surveying, processing and

developing resources

(2) Policy making stage -

Motivating the execution of

policy

(3) Post policy making stage —

Executing the policy
Codes :

(A) Only (1)

(B) Only (2) and (3)

(C) Only (1) and (3)

(D) Only (3)

58.

59.

APR - 21224/11—B

TR =1 A, WIelerdehl RV HRoT

it Tt ey ?

(A) o fHfide et S|

(B) WHTI HATIER hidicheh &5 3]

(C) SRl TSI HLoArd YT
Exul

(D) wfshan wHEN

TTCT TR RV ST aIeR Seeet! AT/

aed ?

(1) ¥ 4R SevarE] <o — FaA &,
wfgen enfor wemem foepfag &

(2) GO SHFUATE] T - GO
SHeTESIEuie Ygd o]

(3) ERU SHfGEIMAET T - R0
qiferdl wftaa e

i

(A) ® (1)
(B) wed (2) aAfor (3)
(C) W (1) 37T (3)

(D) e (3)
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60. The 18 stage model of policy making | 60. &R Mftd 18 o Hise A=A Hatad
is related with : AR :
(A) Herbert Simon (A) & TEE
(B) Yehezekel Dror (B) Fggishel g1
(C) John Kingdon (C) St fepred
(D) Laurence Lynn (D) @ fem
61. What is the objective of good | 61. HIMEHA 3IfEge HE MW@ ?
governance ? &) TSk
(A) Sarvodaya
(B) HHTSTRSATOT
(B) Social Welfare
(C) #Id
(C) Antyodaya
(D) Good Government (D) S
62. The first report of Nolan committee 62. e WAl Wfed STedrel ATRI
is related with : Heifd Se
(A) Official position (A) HEEH S
(B) Pay grades (B) o= 2t
(C) Pay commission (C) aad 3TmEM
(D) Standards in public life (D) HESIH oA gl
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63.

64.

Citizens Charter was first adopted

in which country ?
(A) USA

(B) UK

(C) India

(D) Singapore

Which key dimensions of good
governance were identified as per
World Bank document on sub-

Saharan Africa ?

(D

Public value management

2)

Public sector management

3)

Business management
(4) Acountability

framework for

(56) Legal

development
(6) Information and Transparency
Codes :
A) (2), (4), (5), (6)
(B) (1), (2), (3), (6)
(©) (), (3), (4), (6)

(D) (1), (2), (5), (6)

63.

64.
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AR T e TAYYH hived <9md

wiehrel et ?

(A) emftEm

(B) ¥cie

(C) Y

(D) famg

TI-HeR SfFehalial S sl

SEIUASTIEN YErEe #ivd ged el
fieyma & Ba ?

(1) e Hod HeRdgTH
(2) HEeh & LT

(3) SHAETHE HTLAIA

(4) SRETE

(5) fomrmmTe! et WEY
(6) wifedt for aRERTeRaT
'H‘Eﬁ?l'l? :

(A) (2), (4), (5), (6)

(B) (1), (2), (3), (6)

(C) (2), (3), (4), (6)

D) (1), (2), (5), (6)
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65.

66.

67.

Who is founder of concept ‘Citizens
Charter’ ?

(A) John Manro
(B) John Martin
(C) John Major
(D) John Mayor

Which of the following indicators of
good governance is not given by

Kautilya’s Philosophy ?

(A) The king should be servant of

state

(B) The king should be just and

honest

(C) The king should not follow the

code of conduct

(D)

To ensure people’s welfare

Which of the following is not the

reason for the growth of

Administrative Tribunals ?

(A) Administrative justic cheaper
(B) Speedy justic

(C) Flexibility

(D) No provision of appeal against

the decisions of tribunal

65.

66.

67.

APR - 21224/11—B

‘ArTRERTET TG AT FehedET WurdT i
aqE ?

(A) S 7R

(B) S HEHA

(C) S #SR

(D) SF ¥R

Fifeca=a TERMMEES GIEAT  HIv
AT FiffTqere Al ?

(A) TS B TSI AR STHE]

(B) T B <AEHMT & YTHI0S, 3199l

(C) TSI SAEREEA] 9T Shidl hiHl

o

(D) < eIl WET ST

TIMHH T ATATEHIOM=AT AT TS

G AU hI0d HRO AR ?
(A) YTEHE =9 WK AR
(B) Sielg =™
(C) Aaferehar

(D) R fAoiEfaeg e
HLA A TR
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68.

69.

The relations between citizens and

administration are like :
(1) Clients
(2) Regulatee
(3) Litigants
(4) Controller
Select the correct code :
A) (1), (2), (3)
(B) (2), (3), (4)
(©) 3), @), (1)
D) (1), (2), (4)

Which are ways of people’s

participation in administration ?
(1) Participation in decision-making
(2) Participation in implementation
(3) Participation in sharing benefits
Select the correct code :

(A) (1), (2) and (3)

(B) (1) and (2)

(C) (2) and (3)

(D) (1) and (3)

68.

69.

APR - 21224/11—B

AR 9 AR I e TSI
FHAd ¢

(1) gk
(2) faf=fas

(3) foarEl (gewhcHa)

(4) fEI®

T Hehdier faer .
A) (D), (2), 3)
(B) (2), (3), (4)
€ ), 4), (1)
D) (D), (2), 4)

TRTEAT WA HEHF S0 A
ed ?

(1) fAofEufeEaa ggvm

(2) AU FEHT

(3) TYARUHE HEUM
AN Hehdih el
A) (D), (2) = 3)

(B) (1) = (2)

(C) (2) @ (3)

D) (1) = (3)
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70.

71.

The object of Citizen Charter was :
(A) Democratic Decentralisation
(B) Responsive Administration
(C) Strengthen the Panchayat Raj
(D) Removal of Poverty

Research methodology includes :
(A) Research policy of government
(B) International research policy

(C) Establishment of research and

development cell

(D) Procedures for scientific

70.

71.

APR - 21224/11—B

M T9e=T Se9l & il

O

[AenGlen Y]

(A) TIRIE

(B) gfdHErc s JRIEH

(C) TS desehe[ehu]

(D) =i e

T TG § HHeE B
(A) TEEHRE TINEA &RT

(B) STqUUSea WeE R

(C) wele onfor foarre e T

(D) SR TUTHUTEST isha

investigation
72. In which model general principles | 72. I wreamesy fafire Oemmeas
are developed from specific PPN 5
AHIF dTd Tdeh[dd cshedl Slidid ¢
observations ?
(A) g faga
(A) Micro theory
. (B) form
(B) Induction
(C) Deduction (C) T
(D) Macro theory (D) Ty@ fagra
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73.

74.

Assertion (A)

research project needs to include

: Designing a

serious considerations of the ethical

dimension.

Reason (R) : Many social science
studies aim at describing situations

and events.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) 1is false but (R) is true

The hypothesis that suggests there
is no relationship among the

variable understudy :
(A) Simple hypothesis
(B) Complex hypothesis
(C) Null hypothesis

(D) Logical hypothesis

73.

74.

APR - 21224/11—B

TF (A) : TN Teheur=t AT LA
Afcrer aftHTo=n YR foeR Y0 e
8.

T (R) : 3 9IS fag e
gfifeerdt onfor oA v Ha.

G Hehdlsh 9% UvE STl ol

+ .
.
-

(A) (A) o7 (R) SFel T 3TTed ST
(R) & (A) = 79 Tq&I0 318

(B) (A) =fu (R) Sl ¥eF 3R WY

(R) & (A) ¥ Irg TSR0 el
(C) (A) ¥ 3e W (R) © 39H 3T

D) (A) 3TF 3 997 (R) & 9 38

Y TRIAHR S Yfad L, A
T HIVAE Y THAr

(A) W& TEIdh
(B) wfea TRk
(C) T TENH
(D) Wfeher TETH
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75.

76.

Which approach in research focuses
on understanding behaviours,
attitudes and opinion of individuals

or groups ?

(A) Quantitative approach
(B) Mixed-methods approach
(C) Qualitative approach
(D) Comparative approach

Which is the good source of

formulation of research problem ?
(A) Survey

(B) Case study

(C) Review of literature

(D) Hypothesis

75.

76.

APR - 21224/11—B

HYNEAIA ShI0al gfeh STl fehan

T A, g S0 Ha H/AESA SUEER
higd M ?

(A) TEaTTE g

(B) fag dsd=n giesmr

(C) TucH gftzeh

(D) qATHE glzeh

HINYT FHET SIUIERET RI0d =T
YA og 7

(A) AT

(B) == 31egaA

(C) Tevdufesmn smemEn

(D) TEaw

77. The arrangement of conditions for | 77 e HereqmEy 9 favooum=l ot AT
collection and analysis of data in a & T 5
manner that aims to combine )

e ®erd S HrEusd! $fed T
relevance to the research purpose
with economy in procedure is e WS
known as :

(A) TEIa®
(A) Hypothesis '

(B) GRNEATET ST
(B) Research design
(C) Research problem (C) wMer
(D) Research question (D) TENEE TEA
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78.

79.

80.

Name the research method which is
usually done by developing a close
interaction with members of a group
or living in the situation which is

being standard.

(A) Case study

(B) Participant observation

(C) Community discussion forum
(D) Participators research

Which is not the function of research
report ?
(A) To communicate the research

result

(B) To help the executives in

selection of right action

()

To verify conclusions of others

(D)

Using inappropriate research

methodology

Which of the following is not search

engine in research ?
(A) Alta Vista

(B) Google

(C) Share Ware

(D) Britannica Encyclopedia

78.

79.

80.

APR - 21224/11—B

i

T TETde] S9N STTe! STafshagh,
Tenern w1 feerdi=n S99 LU 378 o &
e g el S

(A) =TT AP

(B) HRurn Treo

(C) gt ==t A9

(D) Heurl weA

TN ST Sy hIod

el 2

(A) eneArn frees Tygfa e

(B) &R THET A Fdl o™

e Y0

(C) qu=ar=a frehwi=l Tedle v

(D) Fhiea WRIEA gEdrar aml

TYNEAMES Wefieldeh] HIvG & 3foM
e ?

(A) srear fegwa

(B) A

(C) TR FASW

(D) foeifer favasm
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81.

82.

Who of the following has restricted
the use of term administration to the
activities of the administrative

branch only ?

(A) Willoughby

(B) L.D. White

(C) Luther Gulick
(D) Marshal Dimock

According to critics, what is the main
drawback of the view that equates
administration with managerial

techniques ?
(A) It is too abstract and arbitrary

(B) It includes technical and

operational activities

(C)

It focuses on the common

purpose of administration

(D)

It provides a realistic character

to administrative study

81.

82.

APR - 21224/11—B

W TAUh! shI0 G o1 IS 9T

hded GIMHHRTH TME=AT SHIHRTST]

T¥ifed oael 3R ?
(A) Teretsit
(B) TA.El. =M

(C) g T[feteh

(D) wEie fedts

TRTRTL GHIRTHRT=AT Od, FITEATS]

FTATIHRTT AT AT BT

gieeh A=l &I HHadl &E e ?

(A) & TU od Ui AFEET SR

(B) I Tif>¥ek U1 AR fohamehamdr=n
THET 318

(C) TRIHAT=A THM TER Y hisd hel

Sl

(D) T3MHHE AT TR Wy

UM HLd
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83.

84.

Who were the Cameralists and what
was their primary focus during 16th

to the 18th century in Europe ?

(A) Chinese administrators studying

public administration

(B)

Indian priests practicing public

administration

(C) German and Austrian professors
and administrators studying

civil service

(D) Egyptian bureaucrats
specializing in pyramid
construction

In the administrative hierarchy,
what is the special connotation of the

term “department” ?

(A)

The smallest unit below the

chief executive

(B) The territorial subdivisions of a

country

(C) The largest and highest unit

below the chief executive

The academic divisions in

(D)

universities

83.

84.

APR - 21224/11—B

YA 1631 4 18T IS

HAUfRE S0 B A0 == gty

a9 HE B 7

(A) TESI{Teh TIMEATET S IR
I NIEED

(B) NI 319 IO WA

(C) - TE= 19 HOR SHA 4

HAMLIT TeATh: 9 YIS

(D) ffae aryessm™E arfer Ea

HEIEIPEREIERtIH!
U F YeIehA ' faumt’” = srsar=
fovm od @@ e ?

(A) g& wEeR b= et

Taid TgM T
(B) TEmEN <y W 3Sufaym

(C) H&A HEGRIYE Te gdid diS
afor waTed WEH

(D) foamdiemeier Sraforer fasm
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85. Which has made administration | g5 s yome TREEE o ShemfgE o
more transparent and closer to I,
people ? ' e
(A) Liberal Policy (A) .
(B) Information and Technology (B) UL
(C) New Economy Policy (C) T snfeie o
(D) Administrative Reforms (D) JETEHE GHRM
86. Who distinguished between ‘sub- | 86. ‘=&jfss wiasm’ 7 ‘difs wHaemr’
stantive supervision’ and ‘technical IO TE BION Sl AT ?
supervision’ ? A -
L]
(A) Margaret Williamson (A) IR Tt
(B) Millet ®) fer
(C) Pfiffner (C) TFw
(D) Elton Mayo (D) Teed HE
87. Assertion (A) and Reason (R) | 87, faum (A) snfor &rwr (R) =
pattern : . - .
Assertion (A) : Span of control (A) |"|<"|7|U|_|°|N|{ & T,
means the span of supervision. (ERENIENEEEELE
Reason (R) : ‘If the span of FHIOT (R) : S T30 &5 o2 Jee!
supervision is extended thinly, 5 ~
unsatisfactory result occur’. W = eli
Answer the question using the codes '
given below : Hahdieh
((Z;deBSt;l (A) and (R) t d (A (&) () Siee e ST
0 an are true an
(R) is the correct explanation R) & (A) 3 = il
of (A) (B) (A) & (R) S sReR a2d, g
(B) Both (A) and (R) are true, but (R) T (A) = Iy fageimor @t
(R) is not the correct explanation )
of (A) (C) (A) & IR 3R, WG (R) ¥ I
(C) (A) is true, but (R) is false &l
(D) (A) is not true, but (R) is true (D) (A) =% T, TG (R) © a1 378
41 [P.T.O.



88.

89.

90.

Staff council were established by
the government of India on the

recommendations of ................. .
(A) First Pay Commission

(B) Second Pay Commission
(C) Royal Commission

(D) J. H. Whitley

The classification of services in India

is governed by the ............. .

(A) Civil services rules of 1955
(B) Civil services rules of 1930
(C) Civil services rules of 1947
(D) Civil services rules of 1929

What is not included in ordinary

pension ?

(A) Superannuation pension
(B) Retiring pension

(C) Invalid pension

(D) Injury pension or family pension

89.

90.

APR - 21224/11—B

(B) THU o9 3N
(C) Ul =hiueH

D) 3. = T

...................

TR TS i)

M 3R

(A) et a1 Aftaf=m, 1955
(B) et e arfuftew, 1930
(C) et o arfuftem, 1947

(D) 9T "o Ay, 1929

n

HER el
TR ?

(A) T Tt e

(B) ffe=d deer Fege el

(C) =1 FvAY IUid: 31&™ oo

(D) HEITEE HTHHIST Hleed ST
Aretel fehal ==l AW
= ToE HeeoR ode

T HIME FHET B
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91. Assertion (A)

92.

: Maslow was
interested in research in under-

standing human behaviour.

Reason (R) : It was the result of

his early career as psychologist.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Peter Drucker’s concept of ‘MBO’

emphasizes :

(A) Motivation and control

(B) Communication and control
(C) Motivation and self-control

(D) Objectives and control

91.

92.

APR - 21224/11—B

faeam (A) : 9%l = TE e qHSH
HUHEE] HNEAR .

HROT (R) @ T HAHLER WA &=
TR wRfAS aRomE

WEHe Hehdleh A& Jer ST = ¢

W :

(A) (A) =AM (R) S Hed ATea SA1fun
R) § (A) = T T 18

(B) (A) =701 (R) S ¥ 3TRd W

(R) ¥ (A) 9 Img TR0 Tl
(C) (A) ¥ 318 g (R) 7 319 318

D) (A) 3FH 3 997 (R) & 9§ 3R

et oo TH.A. 0. T TR
W R :

(A) AR et feem

(B) &y anifor fsron

(C) Ao st Te=i— e

(D) 3fgse a7 fr=r
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93.

94.

Minnowbrook-III broadly deliberated

on :

(A) The Future of Public
Administration, Public
Management and Public

Service

(B) The Issues of Public
Administration, Public
Management and Public

Service

(C) The review of Public
Administration, Public
Management and Public

Service

(D) The core values of Public
Administration, Public
Management and Public

Service

Mary Parker Follett’s book ‘Creative
Experience’ brings into focus the

problem of :

(A) Psychology in Organisation
(B) Conflict in Organisation
(C) Morality in Organisation

(D) Alternative System of

Government

93.

94.

APR - 21224/11—B

f=reeR-111 A& A SATha faam-

faf9a smen

(A) CTRYIEH, @i LAY A0

NS i o
Clleh el Ard It

(B) TIRYSIEA, @i FaeIMdy 2o

Ty A TR

(C) TIRYSEA, @i FIedMay 2o

Y = d
clenHedl «l=l SHleldl

(D) TNHIIMEE, Tk SHIEATIH AT

AL A= A e

T 9 Thicied Y& fohufess T

T’ o1 99EeR a9 Sfsd w4

(A) HEAde AT

(B) Heeader 9=

(C) FHAdal Afdehdn

(D) IEEET YIRET SeEen
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95. Match List I with List IT and select

the correct answer by using the

codes given below :

(@)
b)
(c)

(d)

(1)
(2)
3)
(4)

List I
Chester Barnard
M.P. Follett
Chris Argyris
Abraham Maslow

List II
Management is a profession
Immaturity-maturity theory
Motivating behaviour

Organisation as cooperative

social systems

Codes :

(@ ) (© (@

@a O @ @ @

B 3 @O @ @

€ @ @ @© 3

D @ @O @) 3

APR - 21224/11—B

95. I I, J= 11 Hea S[eal ST @l
focien dfedqd ara Sar feren .

GOl
(@) I THE

(b) THI. HE

(c) Toam sy

(d) STsITEn Al

e 10

(1) =TT B Ush HadE 38

(2) ST IRuFaa G

(3) TRUMCHET SHaER

(4) ¥ T TRl IS e

+ .
.
-

(@)

A

(B) 3

C) @

D) @)

®)

(2)

(1)

(2)

(1)

(c)

3)

(2)

(1)

(2)

(d)

(4)

(4)

3)

3)
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96.

97.

98.

Which of the following pairs is not
correctly matched ?

(A) Spiritual Father of the Social

System — C. I. Barnard

(B) Management Guru — Elton

Mayo

(C) Father of Scientific Management

— F. W. Taylor

(D) Nightingale of Management

Science — M. P. Follett

From the following which is not
the characteristic of charismatic

leaders ?
(A)
(B)
(C)

High levels of dominance
High levels of self confidence
They don’t have ability to

convince followers

(D) Strong conviction in the moral

righteousness

The ‘CLECTS’ in prismatic society
of F.W. Riggs are :

(A)
(B)

Elected leaders of middle class

Political leaders who could not

win the elections

()

Elite groups who use traditional

clout to win elections

(D) Typical prismatic group

96.

97.

98.
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ETATAIh! BV STl FRE Tood
M ?

(A) FrHTe: SFaEdd AT caeh TUaTie
- . 3. SAe

(B) =AU & - Teed HAl

(C) IS e fame - T%.
oy, Tl

(D) =HeEATIH TS AR -
Tq. 9. FRR

JEICTUsh! IV HIHE Toare afyrsed

I ?

(A) SEETE 3T e

(B)

MMM SoF U=l SATcHSgaTd

S Eer

TS ST Yegd QU]
&THAT T

~r

faer enfH

(&)

(D) ol & favam

. ooy, T Arean Sieiehld qATSTHE
‘TR B STRd

(A) 7| = faifea Jd

(B) fergd 7 il Us=hid =

(C) Masvw= fwTIERel RIS
ETEl AR O Seay e

o o

fafyre aeM

(D) AT FHSAA
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99. Which of the following statements

99. -9 TIh SHATIUTIATAT Hehi=al TS

is incorrect regarding the elements
wrefiel &Ivd faer g% AR ?
of New Public Management ?
(A) An attention to lesson from (A) SISt &5 SHHereToT= forehariihe

private sector management A 0

(B) A focus upon entrepreneurial

(B) ES&hIF Ageel X
leadership

(C) An emphasise on input and (C) ae™ omfr yg= frasor amfuy

output control and evaluation

TEAATA A R

(D) An emphasise on authority and

(D) 3R 27T SaEeRer 9T

responsibility

100. According to Fayol, ‘Administrative | 100. TAfET=2 Td, WRIEH HIA & &M

skill that is required also in : ST YIS TR
A1 11 A & N
(A) Industry, Government as well as A) W W TR

home management
LSRR

(B) Industry and home management
(B) = 9 T HATEATH
(C) Government and Administrative

Process (C) 3T & & e

(D) Home management and industry (D) e AT F IS
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